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Ones
Ugnė and Jūratė enjoy collecting mascots with various numbers
on them. Jūratė only collects mascots with numbers composed
of the same same digits. Ugnė, however, collects mascots with
numbers coposed of ones.

One day, while studying division, the girls noticed that if they
divide some Ugnė’s numbers by Jūratė’s numbers, it is possi-
ble to obtain numbers of an interesting shape. For example,
111 111 111/9 = 12 345 679.

Girls wondered: What other sequences of numbers can be produced and what are the sums
of their digits? Unfortunately, the numbers may be very big and it is too complicated for the
girls to perform the division themselves. Therefore, they are asking you for help.

Task. You are given the numbers of Ugnė and Jūratė. Divide the Ugnė’s number by the
Jūratė’s number, calculate the result of division and find the sum of digits of the division
result.

Input. On the first line, there is given one integer N : the amount of digits in the Ugnė’s
number. On the second line, there are given integers M and d. They indicate that Jūratė’s
number is made from the digit d, repeated M times.

Output. Output the only number – the sum of the digits of the division result. If the
division result is not an integer, output NESIDALO (Lithuanian for not divisible).

Examples.

Input Output Comments
9
1 9

37 The example given in the problem descrip-
tion.

Input Output Comments
6
2 4

NESIDALO When dividing 111 111 by 44 we get 2525,25
which is not an integer.

Subtasks. The following constraints will be valid for all tests 1 ≤ N ≤ 500 000 000,
1 ≤ M ≤ 1 000 000 and 1 ≤ d ≤ 9.
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No. Points Additional constraints
1 24 N, M ≤ 9
2 30 N ≤ 1 000 000, M ≤ 9
3 27 N, M ≤ 1 000 000
4 10 d = 1, 3 or 9
5 9 —
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